INGLESE
1) Can Alex ride a horse? 2) Can I drink?

O A. Yes, he does.
O B. No, heisn't.
O C. Yes, he can.
0 D. No, he doesn't.

A No, he can't.
B. Yes, you can.
C. No, she can't.
D. Yes, they can.

oood

3) Segna la frase che ottieni riordinando

le seguenti parole. 4)What's the weather like today?

" fish im it wall o OO0 A. 1It'snew.

can fish a swim it walk can't,. O B. It'sraining.

O A. A fish can it walk, can't swim. [ C. It's a parrot.
O B. A fish can swim, but it can’'t walk. 0O D It's my bike.

O C. Walk fish a can it, can’t swim.

O D. Can it walk, a fish can’t swim.

5)What was the weather like yesterday? 6) Was it foggy yesterday?
O A. It was sunny. LA No, it wasn't.
0 B It were sunny. 0 B. NO, she isn't.
O C. Itissunny. OO C. No, he doesn't.
O D. Itaresunny. [ D. No, it were.

7) Complete with is or was.

a) Today it ....... warm, yesterday it ....... cool.

b) On Monday he ....... at the seaside, today he ....... at home.

c) On Sunday it ........ hot, he ........ at the beach with his friends.

LEGGI E RISPONDI.

Today Bill is in mountain. It's cloudy and windy. Bill is skiing. He can ski very
well, but he can't swim.

8) Where is Bill today?

0 A. He's avery good player.
O B. He's at home.
0 C. He's here with his family .
O D. He'sin mountain.
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9) What can Bill do very well? 10) Can Bill swim?

[0 A. He can ski. O A. No, he hasn't.
[0 B. She can't ski. O B. No, he doesn't.
0 C. Ican ski. O C. No, hecan't.
[0 D. Itcan'tski. O D. No, heisn't.

LEGGI E RISPONDI

Hello! My name is Jane.

Last year I was in England, but at the moment I am living in France because
my father is working in a bank in Paris and my mother is teaching English in
at school.

My family and I are living in a very big house. It is near the centre of the
town. I have got a lot of new friends. They are French, so I am learning this
language.

I have got two brothers: Louis is very little because he is only three years old.
James is seven years old and he goes to school and he is studying French,
too.

Today it's Saturday. My mother is in the kitchen and she is cooking dinner.
She is making a cake because today it's my birthday. We are very happy.

11) Now Jane is living in 12) Last year Jane was in
A. [1 Paris A. [0 Paris
B. [ England B. 1 England
C. U France C. U France
D. 0 London D. [0 London

13) Jane has got a lot of new friends and 14) Who are Louis and James?

A. (1 she isn't learning French

B. [1she does learning French A. [ They is Jane's brothers
C. I she is learning French B. ' They are Jane's brothers
D. [l she doesn't learning French C. [) They are Jane's sisters
D. [0 They aren't Jane's
15) Why is Jane's mother making a cake? brothers

A. [1 Becouse it's Louis’ birthday

B. [0 Because it's James' birthday
C. [l Because it's Jane's birthday

D. [1 Because it's your birthday
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Griglia di valutazione

ITEM RISPOSTA CORRETTA PUNTEGGIO

1 C 2

2 B 2

3 B 3

4 B 2

5 A 2

6 A 2

7 a)is - was lptx 6 =6

b)was - is
c)was - was

8 D 1

9 A 2

10 C 2

11 A 1

12 B 1

13 C 1

14 B 1

15 C 2

TOT 30
Criteri di Valutazione

PUNTEGGIO Percentuale Valutazione Livello
30-28 95%-100% AAS
27-25 85%-94% CEA Avanzato
24-22 75%-84% QCA
21-19 65%-74% ACS Intermedio
18-16 55%-64% ESS Base
15-13 45%-54% PAR In via di prima
=<12 = < di 44% MLI acquisizione

IC S@MNIUM — A.S. e - ING5 - Prova strutturata N. 4




